

"LEAD THE CHANGE WITH OUR INNOVATIVE ECO-FRIENDLY TABLEWARE FOR MODERN BUSINESSES"



"Sustainable Tableware for Every Occassion"

#44PRODUCTS #368BOXES #373500QTY #1239528INR #GSTINCL

RECOGNITIONS & HONORS

EXCELLENCE IN AGRI FOOD INNOVATION AWARD 2024 BY MINISTRY OF FOOD PROCESSING - GOVT.OF INDIA

RANKED AMONGST TOP 10 ECO-FRIENDLY PRODUCTS STARTUPS IN INDIA BY SILICON INDIA







TOP RATED CLIENTS IN QUIT PLASTIC PORTFOLIO

































INTRODUCTION OF THIS DEALERSHIP PLAN

Bagasse Takeaway Anti-Leak, Unbleached Food Containers offer several advantages, making them a popular choice amongst Restaurants, Cafes, Hotels & Cloud Kitchen's.

Here are some Key Benefits

- Renewable Resource: Bagasse is derived from sugarcane, which can be replanted annually, ensuring a continuous supply.
- Biodegradable and Compostable: These containers break down naturally and can be composted, reducing landfill waste.
- Reduced Pollution: Using bagasse helps decrease air pollution and landfill burden compared to traditional disposal methods.
- Lower Carbon Footprint: The production of bagasse products releases less CO2 compared to plastic.
- Durability: Bagasse containers are strong and durable, making them suitable for hot, cold, and oily foods.
- Microwave and Freezer Safe: They can withstand high temperatures and freezing conditions without degrading.
- Water and Grease Resistant: No added chemicals are needed to make bagasse containers resistant to water and grease.

These features make bagasse an excellent alternative to plastic, contributing to more sustainable and environmentally friendly food packaging solutions.

#MutualTrust #MutualCare #MutualRespect #MutualBenefit

#12LakhsInvestment #BiodegradableProducts #EcoRevolution

PRODUCTS COVERED IN THE PLAN



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
1	2 Oz 60 ML DIP CHUTNEY ROUND BOWL	20000	4	5096.00	20384.00
2	2 Oz 60 ML DIP CHUTNEY ROUND BOWL LID	18000	3	7646.40	22939.20
3	3 OZ 100 ML BAGASSE BOWL	20000	10	2195.20	21952.00
4	4 OZ 110 ML TEA-COFFEE BAGASSE CUP	15000	5	3763.20	18816.00
5	5 OZ 150 ML SQUARE BOWL	15000	5	3460.80	17304.00
6	6 OZ 180 ML ROUND BOWL	15000	10	3158.40	31584.00
7	7 OZ 210 ML ROUND BOWL	10000	5	3270.40	16352.00
8	8 OZ 240 ML ROUND BOWL	10000	5	4345.60	21728.00



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
9	10 OZ 300 ML RECTANGLE BOWL	10000	5	4659.20	23296.00
10	12 OZ 360 ML ROUND BOWL	10000	10	2497.60	24976.00
ıı	16 OZ 480 ML ROUND BOWL	10000	10	3225.60	32256.00
12	7 INCH WHITE ROUND PLAIN PLATE	10000	10	2228.80	22288.00
13	7 INCH WHITE SQUARE PLAIN PLATE	20000	20	2060.80	41216.00
14	9 INCH WHITE ROUND PLAIN PLATE	10000	20	1898.40	37968.00
15	9 INCH WHITE ROUND DEPTH PLAIN PLATE	5000	5	3897.60	19488.00
16	10 INCH WHITE ROUND PLAIN PLATE	10000	20	2273.60	45472.00



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
17	12 INCH WHITE ROUND PLAIN PLATE	10000	20	2973.60	59472.00
18	2 DIMENSION RECTANGLE TRAY	5000	5	3684.80	18424.00
19	4 DIMENSION RECTANGLE TRAY	2500	5	2973.60	14868.00
20	2 COMPARTMENT TRAY	10000	10	3248.00	32480.00
21	10 INCH 3 COMPARTMENT ROUND PLATE	10000	20	2542.40	50848.00
22	10 INCH 3 COMPARTMENT SQUARE ROUND PLATE	10000	10	3852.80	38528.00
23	11 INCH 4 COMPARTMENT ROUND PLATE	7500	10	4460.40	44604.00
24	12 INCH 4 COMPARTMENT ROUND PLATE	10000	20	3382.40	67648.00



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
25	16 OZ 500 ML ROUND TAKEAWAY BOWL	15000	15	3796.80	56952.00
26	25 OZ 750 ML ROUND TAKEAWAY BOWL	15000	15	2699.20	80976.00
27	25 OZ 750 ML RECTANGLE TAKEAWAY BOWL	10000	10	5398.40	53984.00
28	16/250Z 500/750 ML WHITE ROUND TAKEAWAY LID	30000	15	3656.80	80976.00
29	25 OZ 750 ML RECTANGLE TAKEAWAY BOWL LID	10000	10	3796.80	37968.00
30	3 COMPARTMENT TAKEAWAY TRAY	1500	3	4060.00	12180.00
31	3 COMPARTMENT TAKEAWAY TRAY LID	1500	3	3516.80	10550.40
32	4 COMPARTMENT TAKEAWAY TRAY	1500	3	5140.80	15422.40



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
33	4 COMPARTMENT TAKEAWAY TRAY LID	1500	3	4060.00	12180.00
34	5 COMPARTMENT TAKEAWAY TRAY	1500	3	5549.60	16648.80
35	5 COMPARTMENT TAKEAWAY TRAY LID	1500	3	4200.00	12600.00
36	6 COMPARTMENT RECTANGLE TRAY	1000	4	2774.80	11099.20
37	8 COMPARTMENT TAKEAWAY TRAY	1500	3	5952.80	17858.40
38	8 COMPARTMENT TAKEAWAY TRAY LID	1500	3	4328.00	12986.40
39	6 X 6 INCH CLAMSHELL TAKEAWAY BOX	2500	5	3108.00	15540.00
40	8 X 8 INCH 3 CP CLAMSHELL TAKEAWAY BOX	1000	5	2219.84	11099.20



No	Item Name	Total Qty	No of Box	Price/ Unit	Amount
41	9 X 9 INCH CLAMSHELL TAKEAWAY BOX	1000	5	2544.64	12723.20
42	9 X 9 INCH 3 CP CLAMSHELL TAKEAWAY BOX	1000	5	2544.64	12723.20
43	9 X 6 X 3 INCH RECTANGLE CLAMSHELL TAKEAWAY BOX	1000	4	2217.60	8870.40
44	10 X 6 INCH 2 CP RECTANGLE CLAMSHELL TAKEAWAY BOX	1 1000	4	2298.80	9195.20
12 % GST INCLUDED TOTAL		373500	368		1239528.00

12 % GST INCLUDED
TRANSPORTATION CHARGES EXTRA

READY TO MAKE A DIFFERENCE?

Reach out to us today to learn more about our business dealership opportunities & how you can be a part of the Eco-Friendly Food Packaging Revolution.

Contact Us



QUIT PLASTIC REGISTERED OFFICE

Q304, CHAGS THE PRIME, Pandit Nehru Marg,Jamnagar, Gujarat, India

<u>+91 999 800 1727 | +91 910 413 1727</u>

□ quitplasticstore@gmail.com

www.quitplastic.in